PR ¢ 7
_Ai.] L I x — = e -1 1 : (}M’(})z -
x>1 Melx=1) (e-1) (-1)(x+1)

1 M (x-1) (Xt -1)
x* )2 (x3-4)"

e pinn (X -1 ; T T '
—Lm«( oy )'L“*xm ﬁ“"[f_, (c—1)

=

X.=31
= 4", 42',@')&12 (L( L1 8
s /‘ 1+ 1 o X~ x_,u;;, X +£+1)) E— = Z
VoLSF W)‘((i’") —s / Jane [ oo L™ (e Looaun™s (P) )

I,
sy wid Y e :

= o [(w»(@u)z))z’__f"x — by |
7 X S ) dor. Dux

boke. | (o ( (uri?) )3]' = 3(Cd>£«lx)z~ (—M‘M, (lqzx)) L - :’?
( 4 |- ) L )

dn . o Aen (+)*

——-—'. | . den. (- )3
ﬂz}ﬂ_&u_@l fu. (i) = Ling 3hex -3fex
x v, L _ X~ MmAx-1)
31 Km(e-1) (x 4)(z+1) ka4 (X1) - (k) 7:’—1— (et)
. lux Y
x=9 X1 x-—>‘:1k D‘lM(Y."‘?) )1 X-M q 1 T T Z



LEY

)
[V
O

?

e i () (T - )

i 3
= €07 bin (37 ) T -z

€ (013

() E 2
Lo l—_—-_%’ = Lim @4% M/B) Yo" 442
L 60 ko M) o= A 1% =
y ml/’\ my
= : —_— ~
13 Lo g = 2 e o)



_i] L ( + 3X1> Butadx LM (32 +J3 ) - (J(r+ 3)(})

X =>00 X + )C o=y o2

Lip, (3534 5% ) /&w[/l

X=3e0 )Cr'”(z
[1+ 5 )
= g/L'W\/ (’3&1"*37‘/) M_&iﬁ__ L - 4&M by 10x
X2 L 1?’ J X34+ s b?,«.!-/]
X541 ;

\ § o ) M >0
Sl Z(’() T X1 f:f:;“ 3&)—

(P) mptina koi., ot Ve R ¢ gty £0.

B [anc/\%( )+ S (mm((hﬂ)q))]':

e lter) - (2-1) 2 1

7_
q + %1 ) (£=+1 )L Pm ((lk-r-'s)")

Lxﬂ) -7

- 0 ((Z& +J)")






—\_I/QMWMM l-x—xM)

e e —
P

=9 K'“?x +’!
j W L2 ~
= Limn Mm (1= 2o +4) | ALY e s von
X"Jq x“__x'l,x’*ﬂ (,(-q)?-
VOLSF © it glqd= M e g

CP)" g it pprem ‘*‘fw'f‘f S e wjraiy b2y
r Jubyw 12 FMW Ied 1.

Naidhing 50 dak omals” 2l P (1)8) metshom Lo
i e byl (ajue) 8 bR g
(28 Yre P(1,8) ¢ j) ¥ ;?,E)M:ﬁ(u =0 .
TENTO ARGVHENT LZE PoudlT PRo LIB. Polynoh

¢_ .3
X=X~ =x+1
-'34 L —_ L M&:‘ 1) X3_4“
= 4 (x-1)2 =T x_}r:«, peeale
R —

(U—L?,"‘”)‘(’(”) = X -1 r:’_""*‘a X' - k41 =
*(J(,"—)C:’) ‘ ()L—{)(K3_1) &

e

—H)C'f") o |

= L,M/ (i"’l)CK"-&x -M;\

zUtw (x byx )= ’!+’)-:1 =3



g« (1) bl b1

PN (75 aﬂ(wfbx) A (et x)
) = l
I A ] = ((éxngw{axj.zmtﬁx))
b3+ wabx .
= (‘tslx/) ® (1@)47--;- 4_:)61 )Zb{,(tjx)_,. B

) + (bx>+ ancedly )2 ?43—[ s




24_\ 33+ 24 Eam =4 1
&Mg Lcaaxﬂ_,r B &;’? (3’”2}‘ o ’Qca;x—t_,’ ‘ Coox -1

X- .l 1
= (3‘0-}2)'(?,@4 ’Q’m 4_4) (QAM /l“%xj -
X0 ey —1 X0 Pas
-2 (Y (4" -y

4 L= . s
VoLSF ¢ » rifi ) 3 E )f{;"‘;(f(j)—q (2nama )

P Mon” 3{)(): tnx—1 ﬁu;j(tjto
(P): Cutort na. Plo,F) o o 1, jurls
o Plo,T) gu0#0. 2
D2 |
= (“‘W\f (s (3%+6)) - (324 4) ) =
d

‘ - (oo e))ll | ,(—M;N(gxué)l.(jzxsz | (7K+M)r+

e
olen . anemm ()

T Woam (COD(ZX“H)). g(?xﬂq)q-:}
| i e

r"&"* (- )J‘ (Fx+m)’

(

don. () (SX"H,)'




TS ¥ ) e ) e J
Ml
9 /@gxl‘.\,‘?-
S FEVN A L S R i AR
. = »ew‘l Mo

=i
Sk i 2 < (M"- () i

M= co M S

2 849 m
| 2wt _y = ey
S (A’M- 1 R ) L e ’&.W’ T = 19143

Tuoa @C{M Kk & S L. k.)

: S 1 a4t
ko mghm“ SM e " L”"mjlﬂf

% > . K. (c(,}rw? AK,W&/L’QMzo).



